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_ BOOKLET A %

SeciiQn A (20 _mai'ks)
Questions 1 to 10 canry 1 mark each. Questions 11 to 15 cany 2 marks each. For each

question, four options are given. One of thiem is the comect answer. Make your choice (3,2, 3
‘or 4). _

Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Sally was supposed to meet her friend at 5 minutes to 10.

ST YN

She arrived %_h after thé appointed time.

At what time did she amive?

@

(3)




4,
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For every Z dumplings that-a new worker wraps, an experienced one
can wrap 3 more. The two workers wrapped a total of 70 dumplings
together one moming. o

How many more dumplings were wrapped by the experienced worker?
(1) 14

(2) 30
(3) 42
@ 50

Mother made two identical pizzas and cut each pizza into a different
nuimber of equal pieces.

She then gave one piece of each pizza away.

What fraction of the pizzas she had baked was given away?

(1)

@ =
(3) 25—4
(4) %:

Which one of the following has the same value as2.16 +0.3 ?

m =2
@ =22
@ 22
@) 20



The rectangles shown below are identicat:. A part of each rectangle is

then shaded. Which one of the foﬂowmg rectangles has the smallest
fraction of it shaded?

N

(2)

3y

4

There are 20 pupils in a class. There are more girds than boys in the
class. Which one of the following is most probably the ratio of the
number of boys to that of the giris in the class?

(X 1:2
R) 2:3
®) 3:4
) 4:5

A certain number will give the same answer when rounded off to
the nearest ten, hundred or thousand.
Which one of the following can be that number?

(1) 1599
2 1935
%)) 2990
4) 9953



The table below shows the number of points four pupils had before and
after Round 3 of a computer game.

Pupil _ | Before Round 3 | After Round 3
Abdullah 10@ points 50 points
Badawi 120 points 30 points
Mohamad 200.points 40 points
Mahatir 300 points 100 points

Which pupit-has lost the largest percentage of his points?
(1%~ Abduliah
2 g

Badawi
8 Mohamad

% Mahatir

Samy took out three identical matchsticks from a matchbox and
formed a tnangle with them as shown in the diagram below.

- Samy then made a few statements about the angles but only one of
them is definitely correct. Which one is it? .
M) LA+sC=sB+ /A
(2) LB+ /LC=sD
{3) LA+ sB=/4C+ /D
g() LB+ £LC =LA



After a game, three girls counted the umber of marbles they had-left and two
of them made the following observations. Study the picture before answering
Question 10.

Melissa, you stilt Melissa, you have
have 4 more marbles - thdca as many
than | do. marbles as | do.

10. Which one of the following statements is not possibie?
(1) Valerie had more marbles left than Vanessa.
(2) Melissa had the most number of marbles left
(3) Both Vanessa and Valerie had 2 marbles teft.
(4) Valerie had 6 marbles left..

Siti wants to stack up some identical toy soldiers as shown below to form a toy
pyramid. If the toys are stacked up three layers high, they will reach 23 cm.
1f the toys are stacked up two layers high, they will reach only 16 cm.

A
23 cm
16 cm
A i h
11. If Siti wants to stack up 10 toys in the same pattern, how high wiill it

reach?

(1) 28 cm
(2) 30 an
3) 35 cm

@) 65 cmn



A group of children was asked to name their favourite sports. The pie chart
below shows what the pupils chose. Given that AB is a straight line and that

20 pupils picked basketball as their favourite sports, study the pie chart below
" carefully and answer Question 12.

Basketball

12. How many more pupils preferred soccer to badminton?
(1 40
@ 25
@) 15
4) 10

13. When two of the solid-figure (shown on the right) are stacked
together, a cube will be formed. !

Which one of the following is the net of the solid figure?
AN

™ N

)

)

4)
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A child from every unit in a block of flats was asked how many other children

lived in the same flat.

carefully and answer Questions 14 & 15.

14.

15.

14 s

sesuodsey JO JequnN

OANWAENODN®O

0 1 2 3
Number of Other Children

.k
(6] bf

From the survey, what is the largest number of children living in a flat?

mn S

2 6
3) 13
4) - 18

What is the total number of children living in that block of flats?
@) 40.

2 58
(3 85
4) 98

Please proceed to Booklet B.
Please ensure that you have transferred your
answers correctly onto your OAS.

The bar graph below presents the results. Study it
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T BOOKLET B

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces. provided.
For questions which require units, give your answers in the units stated. (10 marks)

16. The multiple of 4 just before 32 is

17. A certain number has 9 factors.
8 of them have been listed below.

Write down the missing-factorin threempty box-below. _

R N Y I N A W B

[ 121

-

18.  What do you get when you subtract 4 hundredths from thé sum of

1.23 and 567.8 ?

[

L




13.

20.

21.

23.

With a ruler, measure and write down the length of AB.

em |

¢

@

—@ @

Ahmad is facing Point A from Point B.

When he tums 135° in clockwise direction, he will face another point.
Circle that point in the diagram above.

The square shown on the right has two identical semi-circles
init. If the perimeter of the square is 80 cm, -
what is the fotal area of the-shaded parts? (Take n = 3.14)

Muthu has some 50¢ coins, twice as many 20¢ coins and thrice as

many 5¢ coins as 50¢ coins.  His 50¢ coins add.up to $2.
How much money does he have?

- J

One inch is about 254 cim.
How many cm are there in 8 inches?
(Leave your answer to one decimal place)




24. Three 4-cm cubes are glued together to form a cuboid.
Find the volume of the cuboid.
| o)

25. Mark with an ‘x’ the approximate position of 13.3 in the diagram
below.
|

Quéstions 26 to 35 camry 2 marks each. Show your working clearly in the space below each
question and write your answers in the spaces provided.

For questions which require units, give your answers in the units stated. (20 marks)

as

26. -Wrthout"epeating)any digit, write down the largest 3-digit number
which isdixisis€ by 5.

| I

27. iIf 66 X 78= 436§y
then + 78 =56

__ ]

28. Construct the line BC in the diagram below such that
ZABC = 35°and BC =8 cm.

SA
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29. A bus started its journey at the time shown on the right.
It took the bus 123 minutes to reach a town in Malaysia.
At what time did the bus reach the town?

30. The model below shows the number of Singapore and Australian

stamps found in a stamp album. How many more Austratiian stamps
were there?

Singapore stamps T

— 104 stamps

Austratian stamps

| stamps)

31. In the figure shown below, not drawn to scale, O is the centre of the
circle and AB, AC, BC and OC are straight lines.
Given that Z#OCA= 55°, find ZOBC.

32.  Arnan can travel from Town A to Town Bin 5 hours if he drives
at 40 kmvh.

How long will he take if he incfeases his speed by n km/h?

-page 11




33. Mrs Koh only had 20¢ and 50¢ coins and her 20¢-coins added up to
the same value as her 50¢-coins. She realized she had just enough
coins to exchange for $10 notes. If she had more than $40 but less
than $100, write down a possible number of coins that she could have.

_ coinsj

Junming had $6 with him when he went to schooi every moming.- The bar
graph below shows the amount of money he had left at the end of each school
day. Study it carefully and answer Question 34.

Amount 6 g

Left s

. 4

(in $) 3 2
3
2
1 ]
: B -

Monday Tuesday ¥Wednesday Thursday Friday

I _ Day of the Week
34" On which day did Junming spend the least amount of his pocket

money and how.much was this amount?

ST

35. The diagram above shows a circle that fits perfectly in a square.
If the perimeter of the square is 2p cm, find the radius of the circle.
(Express your answer in terms of p).

b4

Y
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Section C (56 }narks)

For quesﬁon:i 36 to 48, show your working clearly in the space provided for each
duestlon and write your answer in the spaces provided. The number of marks
available is shown in brackets {1 at the end of each question or part-question.

36. In the diagram shown below, the dotted line is the line of syriimetry: of
an incomplete figure. Complete it

e
oergn g ey P annp it in g @ ) wamy e o
L ]

e e e e e . 21-

What is the special name given to the shape of the completed figure?

Answer: -

37. At first, the amount of money Sally had to that MollyAfad was2&i6sand
Molly had % as much as Mandy. Sally and Molly were then given a

F56E of 524 and the 3 girls had the gime amount of money eaﬂtﬁﬁﬂa_uy
Fird the sum of money the 3 girls had%ﬁﬂ

Answer;

-p‘sg 13-

(1

(31



38. The following diagram is a tessellation of a unit shape.

s

(a) Coloar one of the unit shapes. {1
(b) Using only the given dots, extend the tesseltation by adding
one more unit shape without flipping it. 2]
~N ! d

e

S %
39. The diagram above shows a smaller gg@E3te piece of paper pasted

onto a larger one. The four dotted lines show the lines of symmetry.
leen that the geggof the smaller square isgE8E8, what is the

cpficterpf the mguare?

Answer:

- [31
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40. The rectangle shown below is a tessellation of 4 of the same 4init
shape. Each unit shape is formed by three identical squares.

]

—

The perimeter of the rectangle is 42 cm. Find:
(a) the perimeter of each unit shape and
(b) the area of the figure.

Answer: (a) -

(b).

(2]
[2]




10 cm

@ N

41. Tom tied his pen o his pencil as shown in the diagram above to form a

toy. The length of the pencil is —2— the length of the pen.
What is the length of the toy?

Answer: . (4]

- page 16 -



42.

- page 17 -

During a sale, a departmental store offered a storewide discount of a

certain fixed percentage. Mrs Goh paid $16 for a dress during the
sale and saved $4.

(a) What is the percentage discount?

(b) How much did Mr Goh save if he paid $20 for his purchases
during the sale?

Answer: (a) -

2)
2]

(b)_.



43.

Using % of his money, Derek could buy 8 similar pens.

If he was gtven an extra doliar, he could use it together with the rest of
his money to buy another 6 such pens.

.- How much money had Derek?

Answer: {41

- page 18-



44 Two motorists, X and Y, travelled on the same route from Town A to

Town B. They each drove at a uniform speed but started their journey
at a different time of the day.

The table below shows some details of their joumey.

Motorist Distance Time | Distance From | Time
from Town A Town B
X 60 km 1325 60 km 1555
Y | 100km 13 25 100 km 1555 |

if Motorist X reached Town B at 16 25, find:

(a) the distance between the two towns and
(b) the speed at which Motorist Y was travelling.

. Answer: (a) e [2)

(b) 2]

-page 19 -



45.

In a frog-leaping competition, fer every two leaps made by a big frog, a
small frog would have to leap thrice.
In a 100-m race, the big frog feapt 50 times.

(a) How many times did the smalfl frog teap?
{b) How many metres did the small frog move with each leap?
Answer: (a) [2]
(b) : [2}



30 cm

46. Each corner of the floor mat shown above is made up of a
quadrant of radius 4 cm. Taking n = 3.14, find the perimeter of the
floor mat.

Answer: . _ . - 4




47-

Ali, Bala and Krisnan went to a shopping centre and bcught a present
for their fiend. They agreed to share the cost of the present equalty
but Ali did not have any money with him that day and Bala did not bring
enough to pay for his share. As a resutit, the amount of money Bala
paid to that paid by Krisnan was 1: 4.
The next day, Bala retumed $12 to Krisnan.
Find
(a) how much money Bala brought along with him to

the shopping centre and

(b) the cost of the present.

Answer: (3) - [3]

®)__ . 2]




48. Two different machines, A and B, were used together at the same

time 10 print a book.
It took two hours for the book to be printed.
If only Machine A was used, it would have taken another 4 hours.

How long would it take to print the same book if only Machine B was
used?

Answer:

— . S

- End of Paper -

Please ensure that you have written
your answers clearly and transfetred
them correctly onto the answer blanks.
Do check that you have Included the
necessary unit of measurement.
Remember: Every Mark Counts!
Good Luck



Ql Q2 Q3 Q4 Qs
3 2 3 3 2
Q6 Q7 Q8 Q5 Q10

2 2 3 1 4
Q11 Q12 Q13 Q4 Q15
2 4 3 2 4

16. 28 21. 86cm?

17. 6 - 22, $4.20

18. 568.99 23. 20.3cm

19. 7.7¢m 24. 192em?

20.

26. 985 27. 436.8
A

30. 26 stamps 31.  35°



32.

34.

36.

38.

40a.
40b.

42a,
42b.

44a.
44b.

46.

48.

200
40+ m

Tuesday, §1

Trapezium

¥

24cm
108cm

20%
35

420km
88 kin/hr

133.12¢cm

3 hours

37

39.

41.

43.

45a.

45b.

47a.
47b.

210 coins

0.25p cm

3111

64cm

20.5¢m

$20

75 times

] —m

$18
390
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